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1sinx/ (1*+4a%) -2sin2x/ (2*+4a* +3sin3x/ (3*+4a*) -4sindx/(4*+4a*) + - -
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13sinx/ (1*+4a*) -23sin2x/ (2*+4a*) +3%sin3x/ (3*+4a*) -43sindx/ (4*+4a*) + - -
= (7 /2) {cos(a(m—x))ch(a(m+x)) —ch(a(m-x))cos(a(mw+x))}/{ch(2anx)-cos2an)} —®@
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((r-x)/(2a))-e"(ax) — 7 /(2a) + (e"(ax)-1)/(2a"2)
=2 (=1~){1/(n"2+a"2) = cos(nx) e (ax)/(n"2+a"2) + a-sin(nx) e (ax)/(n(n"2+a~2))}
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cosx/ (12+a?) +cos2x/ (2%+a?) +cos3x/ (3%+a?) +cosdx/ (4*+a?) ++ -«
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1sinx/ (1%+a?) +2sin2x/(2%+a?) +3sin3x/(32+a?) +4sindx/(4?+a?) + - -
=(n/2)sh(a(nr—x))/sh(@an) —©
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1sinx/(12+a?) -2sin2x/ (2?+a?) +3sin3x/ (3?+a?) -4sindx/ (4’+a?) + - -
=(r/2)sh(ax))/sh(an) —®
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cosx * shx = cosy * shy + sinx = chx = siny = chy={cos (x-y) * ch(x+y) — ch(x-y) = cos(x+y)}/2

xR I (2)
cosx * shx = siny * chy — sinx = chx = cosy = shy={sin(x+y) = sh(x-y) — sh(x+y) = sin(x-y)}/2
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